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y = f(x) = (p + q − 2pq)x + pq − 1.
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f(0) = pq − 1 < 0;

f(1) = p + q − pq − 1

= −(p − 1)(q − 1) < 0.
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0 < p, q, r < 1
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pq + qr + rp − 2pqr < 1.
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p · q · 1 + 1 · q · r + p · 1 · r − 2p · q · r < 1 · 1 · 1.
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�

1 · 1 · 1
�� x, y, z (#%	�� 1 �
		#���������

p · q · 1
O� x, y, z (#%	�� p, q, 1 �
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1 · q · r
O� x, y, z (#%	�� 1, q, r �
 �������

p · 1 · r
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0 < p, q, r < 1
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1 − r − pq + pqr > 0.
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>����2

� a1a2 ≥ b1b2 > 0 Ǳ	��
5����

a1

b1
≥ b2

a2
.

����
 1��

a1

b1
− 1 ≥ b2

a2
− 1 ⇒ a1 − b1

b1
≥ b2 − a2

a2

⇒ a1 − b1

b2 − a2
≥ b1

a2
.

$+ b1 ≥ a2 > 0�0 b1

a2
≥ 1���

a1 − b1

b2 − a2
≥ 1.

0 a1 − b1 ≥ 0, b2 − a2 ≥ 0 �

a1 − b1 ≥ b2 − a2 ⇒ a1 + a2 ≥ b1 + b2,

���

�� 2 �
��$+&����Ǳ�������������

 	��

9.5 ��������������

	'�g��8	�	
�������g��D(�	
#�

�0
������*)�����Ǳ�#��Ǳ?�3��g

��8&�+�9��g��������#�!��'	��

��������������
��
�g�����h�3

�����'�1�g�D( ������/�������

�����3Ǳ��B�.-��!	��&������	�

�
�
S�

18



����:T�`���T%��!#����!����E

��8�#R������E��8�����+�+����

��	�	���8�
�	���8�
������8��

����
��:������������0:������

	
������8����:,"�������������

����� �����������!�1U�	���	�

�"�������
	�O%�
�������A
���

-
����:�
�	��
��������8�	�	�

����i�$������/���'���,)���� 

�����������A
�D$�

/�#�����
���D%��
��
�+����

�'����
�����
���
+�/����
 )�

���*����	���
���%��
���	����

B��0 $�&� /�&��������,)� ��8

��M������	�����!����������R�

�
�����+������8�

�����N)���

��8�O%�	������B�$����3�Ǳ���


'���Ǳ��
���
�	���1����:T�`��

�@-2V&3����
	�
��M'�������K�

�������5������������4	EǱ	���

��:�

���B�����	�B��/.��1�(�
���

&����	������
��
���������A)'

��	
�����*��������
����	����

���Ǳ���
1���������'���������

�T��
��G#��-�����	� ��������

����	�	��E�
����E���+������E

�������������	
+������E�����

�C�
�����C�����������
��$���

��'��
����+���('���������T��

�� ���	��������8����
���E���

�����"�
� �����������	�
����
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�������
�/�����Ǳ��
	��������

�T��Ǳ�,*��������3����������


���
;������� 
�]�Y����������

�����&#�'�g����8	������j�"�


�F	�������&#D(�6��	���������

�� 5 ���	C�ABCD ���� S �&�� a1, a2, a3 ��

O�	��E��*����

A

B

D

C

a1

a2

a3

E

F

���

S2 − 2a3S − 4a1a2 = 0.

�	���
������$���
��������0.�

W4�%6��/�'�	������!����&�)��

�
	�&����$	<�S�

D%���2

�61�
 CD, CB, CE, CF ���(�����

(CD × CB) · (CE × CF ) = (CD × CE) · (CB × CF ).

�-
	=	����

S · (2(S − a1 − a2 − a3)) = (S − 2a1) · (S − 2a2).

����

S2 − 2a3S − 4a1a2 = 0.

��$�1���
�����	� E, F ����	
��

� C ��$�61�
 CD, CB, CE, CF �����(����

���Ǳ��
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�� 3 ��"�
������$��	������� S �

$�

�� 4 ��
�D����+��%�'����
���ǱǱ

���&�G	8�6�����4����H�	��D%�

������+��

21



10 ���,�0�
�

�
��	���"
��������E��
����[,

��Ǳ���,��I-����'��4#��J)����

�
�,����	�'�,�0�����.��$�(��


�+�>	����
�>	�*��#���*	��	


,�0��#������������,���.�,�0�

�
��0��
������ 6 ��0��+0 6 × 6 = 36 �

#���*�*	��

����

	X
;.�	�
,�#�5	,�0
������T#

�2�0�'#�����
���*/1���	Æ����

X;.�X=���3Æ4�,���,����������

���*�#�������!"1	*�����*����

-	X=�X;.������	�)��,��������

�!���X;.��,���*�����������

����!��Y ������	�A�.�������

+*��#�����'!����	���X;.�	�X=

��$���1	�
A*��#�������<��	
�

���X=��$
�X;.	#���
��*�,��3,

�����$��$+.	*��#������	
=�4,

��������,����������X;.��,��"

�A����X=#����X;.	*��)#�����,
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�	���

����

�����
�(���
��X;.�	�X=��1���

X=����1
��	
��00X;.���

����

������������		���#���
��	
'

!.�����
Q�����0 )�9'��	3)��	

���������	
�.���9'������		��

�����9'A
��� �<���#���	����


��

�� 6 (,�0) ������*�#��������� ��

����$�
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��5��������#0���0��0�DA0�50

�-�Æ^�Æk���3�-
�		�0����,�0�

����		�0�� 	
�$�!��9����!�'�

$�!����	��������	���0
���-e-


�
�	������+��1�l�	�������C�

�
�
�����������
�-�X;.�$�B��

X;.�?���

-1��������G��� �����m��h	�2�

Tj�@��22�
Ǳ�)���	 -1�:��:
-�


�Ǳ\�	2-1��"���
����Æ�����+�

��G�"���

,�0��-1"��������
�-
��1	���

ǱǱ����������-��+��1���U��
��

�
�,��������	
�
.*��#�����

"!����,�	�#��������,���"!.��

����������X;.	
9'A�X=�������

��
��

� $+-���,��3Æ4������-��

� �$+-���,�*�����#��������-��

� �
0�+�X;.�	Æ���X=���A	*���

��#���X=���

� �4/K�X;.	�X=���3/3�X;.���X

=�������	
�-
>��

� *�	>����CX;.�	Æ���X=��)A*�

�#���X=��9'�������	���	C��


�

� *	
>���?�X;.�	�X=����?�	
�

�@#�,�3Æ4�������
���
O��,�

#��

24



����

����
Æ���,�0������0����!���


�	�	,5���5����!������
�����

<��
��-����-n��Ǳ���
	
������

�
����

�� 5 �����	C�#���&����^3�����#

��8�	6�5#���������4	�3�A=�4�

�3	A=�������

� ����

��
��6�5#���
�L=	/�����
�	��

�=���
��?���������=��

-'���/����	4.���
�0o	4+��?

��+�����������	�.��'��2004 ��#�

�����	�/!
�������������	C��6
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18������1/!��3���: 1 441����/!

		����=��: 4 �
��

1

2

3

4

1

2

3

4
�����

�
���	
����: 2 �1� 2 �
���: 3 �$� 3

�
����: 4 ��� 1 �
�����)�2�	+*�	

1 �→ 4, 2 �→ 2, 3 �→ 3, 4 �→ 1
�"��/!���
��-���

/!�������
�����������	��
���

/!
!S�

�� 6 �Æ����������/!��,��1/!�!�

=�����H�"L����

1

2

3

4

1

2

3

4
�����

��/!������Æ���	
�0. ����� /!

 ��	���*��	1 �→ 4, 2 �→ 2, 3 �→ 3, 4 �→ 1

����

��:��l�


��	
���

�� 7 (@�����) ���	C���!+,���

1, 2, 3, 4, 5, 6, 7, 8, 9

��4
 ���@ ����Æ�����@ �!"@�4

 �3��+, 6 � )@�
�+, 1, 2, 3�6 �
��� �

�����H��9@ ���� @���#��
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1

2

4

8

3 5

7

9

6

�����


��	
���

�� 8 ������&����������
��5�,Ǳ�

������O%���������[� a1 � a2�!����

����Ǳ�Z a3 = a1+a2��� a2 � a3 �Ǳ�� a4 = a2+a3�

����������?

a1, a2, a3, · · · , a7, · · · , a10.

�1�O%� a7 �$��	��

a1 + a2 + a3 + · · · + a10

�$���������
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11 �������� ��5"�3	�

	5"�3	�
���S����54$���������

������	����������O���	��	�.�

�6��8���	����������5 ��#����

	
p���	����

�����
Ǳ_&�"��	��Q�� �������

 ���� ��mA��Z0� ���	����	�!�

��_&� Monge T�� �_& Monge T������� �

 1�,'��:�����- ��

11.1 ����

�� 3 ���	C�ABCD ���� A �&�� a1, a2, a3 ��

O�	��E��*����

A

B

D

C

a1

a2

a3

E

F

���

A2 − 2a3A − 4a1a2 = 0.

����Z BE = x, EC = y, DF = a, FC = b�0

A + (a + b)(x + y) = 2A = 2(a1 + a2 + a3) + by

�

A + ax + ay + bx + by = (a + b)x + a(x + y) + by + 2a3.

���

A = ax + 2a3.

28



,

A2 = axA + 2a3A

= x(a + b)a(x + y) + 2a3A

= (2a1)(2a2) + 2a3A,

0

A2 − 2a3A − 4a1a2 = 0.

�
�� 3 ���&��� A �
 a1, a2, a3 �����"�
�

x2 − 2a3x − 4a1a2 = 0

����

11.2 Monge ��

�� 4 ������ A2, A3 ��E� OA1A4 � A1A4 	���

�������� A1, A2, A3, A4 ��
	�6��������

� x1, x2, x3, x4 ���	�6��5��

O

����

A1 A2 A3 A4 x1 x2 x3 x4

���� ����

A1 A2 A3 A4

��������	��

�OA1A2�OA3A4 + �OA2A3�OA1A4 = �OA1A3�OA2A4;

A1A2 · A3A4 + A2A3 · A1A4 = A1A3 · A2A4;

(x2 − x1)(x4 − x3) + (x3 − x2)(x4 − x1) = (x3 − x1)(x4 − x2).

�����
Z �OA1A2 = p,�OA2A3 = q,�OA3A4 = r���

�����	�������

pr + q(p + q + r) = (p + q)(q + r)

	��3�-���4���,� ���
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��������E���+����T�

� × �
2

O
�
�-
����
�	
�������	��

���������
�	G	��	�5�� ����

���� �
��	�	���4����?�E4���	�

�� 5 * α, β, γ �����E�����E4��

sinα sin γ + sin(α + β + γ) sinβ = sin(α + β) sin(β + γ).

��������(��������

����$+�� 4��
�Z∠A1OA2 = α, ∠A2OA3 = β, ∠A3OA4 =

γ����

�OA1A2�OA3A4 + �OA2A3�OA1A4 = �OA1A3�OA2A4

=	��T���

1

2
OA1OA2 sinα · 1

2
OA3OA4 sin γ

+
1

2
OA2OA3 sin β · 1

2
OA1OA4 sin(α + β + γ)

=
1

2
OA1OA3 sin(α + β) · 1

2
OA2OA4 sin(β + γ).

����
�
 1
4OA1OA2OA3OA4 ��

sinα sin γ + sin(α + β + γ) sinβ = sin(α + β) sin(β + γ).
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����$+�E���>�����>�T����

sin α sin γ + sin(α + β + γ) sinβ

= −1

2
cos(α + γ) +

1

2
cos(α − γ)

− 1

2
cos(α + 2β + γ) +

1

2
cos(α + γ)

=
1

2
[cos(α − γ) − cos(α + 2β + γ)]

=
1

2

[
−2 sin

(α − γ) + (α + 2β + γ)

2
sin

(α − γ) − (α + 2β + γ)

2

]

= − sin(α + β) sin(−β − γ)

= sin(α + β) sin(β + γ).

�

�� 6 (Monge T�) � A0A1A2A3A4 �q����Z πij(1 ≤
i, j ≤ 4) O��E� A0AiAj ������

π12π34 + π14π23 = π13π24.

����Z ∠A1A0A2 = α, ∠A2A0A3 = β, ∠A3A0A4 = γ�$+�

E*����T���

π12π34 + π14π23

=
1

2
A0A1 × A0A2 × A0A3 × A0A4 [sin α sin γ + sin(α + β + γ) sinβ]

=
1

2
A0A1 × A0A2 × A0A3 × A0A4 sin(α + β) sin(β + γ)

= π13π24.

�

11.3 �������

� A0A1A2A3A4 �q�����E� A4A0A1 ���� a0�

A0A1A2 ���� a1�A1A2A3 ���� a2�A2A3A4 ����

a3� A3A4A0 ���� a4�
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A0

A1

A2 A3

A4

������� A0A1A2A3A4 ���	
�	 a0, a1, a2, a3, a4 �

T�� �	��)��������T��

�� 1 *Z A ���� A0A1A2A3A4 ������ c1, c2  �

c1 = a0 + a1 + a2 + a3 + a4;

c2 = a0a1 + a1a2 + a2a3 + a3a4 + a4a0,

���� A0A1A2A3A4 ��� A ��9�"�
�

A2 − c1A + c2 = 0.

����Z πij(1 ≤ i, j ≤ 4) O��E� A0AiAj �����

π12 = a1;

π34 = a4;

π14 = a0;

π23 = A − a1 − a4;

π13 = A − a2 − a4;

π24 = A − a1 − a3.

$+Monge T��

a1a4 + a0(A − a1 − a4) = (A − a2 − a4)(A − a1 − a3),

���

A2 − c1A + c2 = 0.

�
ǱǱ���
��	���
Z�E�

A0A2A3, A1A3A4, A2A4A0, A3A0A1, A4A1A2
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���HL�

a, b, c, d, e,

����� A0A1A2A3A4 ������	
�	
 a, b, c, d, e �

����"�
����-�
�
�	���	
�����

�	
���������������

��
�

� ���	C���� A �
&��)�1	6�5&���

� a1, a2, a3 �	�5&��*����

a1 a2

a3

��

a1(A − a1) = a1a2 + a2a3 + a3a1.

� ���	C��E�����A���E����� a1, a2, a3�

a1

a2
a3

�� A, a1, a2, a3 ����
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12 ���+)��9����T�

����

��)���r��L�5��8�	�A�

��.
���� ������ ��#


)�������������D�����

����Æ�Q���O��"6�9'��

��A_�

�� �����O��!���
�1%�

�B�):	�������3H�7	��

��4����
"����"�
�
��

����/���)6������b.��

��O�����?�
��b.���


������
�
����2��

�8�	�� (x, y)  5� x � y �����
� (x, y) �)�

��������5�8�	����5�)����E� �

�	
+T�

aS + bI + c

��C��� S O��E��B�	����	��)����

I ����E�'���[�	��)����a, b, c �; ��

����� a, b � c �$�

���)�sCT��1�� ��
)�������E�

)	��T����� a, b � c �$�����

���E	

��
sCT��

�� 7 (sCT�) 
)�������E���	��

S

2
+ I − 1

����

12.1 ��������

���	C�x � y 5��������
-
�)���r�

�L��\���8�	�

34



�

�

x

y

(2, 2)

(5, 7)

(8, 4)

�,
)�� (2, 2), (5, 7), (8, 4)�����E��'�� 10 �)

����	� 6 �)���'�!�)������*���E

�'���	�)������	3�����)�����e

�����*��E�'��Q������3�����7


����*���E����
���E�����'���	

�)���������5����
�	���������


�

12.2 ����	�����	
��

�1�5����
��E�'���	�)����	���

'�)����	���)�����)����������

/&��/���	C�

�

�

x

y

��������$�

� �)����E�'�
��+=/2	C��


����*������E�'��	
!�)���	

1 �
����������� I �
���
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� �)�����E���	�����
���=/2	C

��


�����*��E�'��Q������	
!�)

��1	
 1
2 �
�����������

S−3
2 �
���

� �)����E������
���=/2	C��


��'E�� 180◦�	
�������*1	.$ 1
2 �


���

-����E����

I +
S − 3

2
+

1

2
=

S

2
+ I − 1.

�
��������$�����	
�����
)����

��6�����������������T�����6�

�������

�� 9 $+	�����
)������6����T��


8, S, I �C��

12.3 �
���


'��E����T����e�Ǳ��-

� ×�
2

,
1

2
ab sin ∠C,

√
s(s − a)(s − b)(s− c),

1

2
(x1y2 − x2y1)

�
�T�������T������<���9���L�



�����sCT���	�)����T����� 1
2 , 1,−1

2�����E�'�Æ�	�����)���J�����

�O� �!����G���B��	����
"����

"�
�
��
�sC
�E�'�Æ�	�)���6��

��+.��������9$.0�	sCT�
�9�6�


��sC	
��
��E���T�����������

����!	�
�-�-���,�3���N]����

����A	�$��� ���
��O���!	�
.�

N]����3����-��������A	Q���&�
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��	�����O��,����O��������
�

�
�ÆN3�������+��A	
�
��-����

��	�

�Ǳ���������� 	������

�� 10 (.� �) ��@�9��	�E��
	�� ��

�q���b1	*t�5�E����������

1

2 3
4

5

	����E�)b1	6�5�E������� 1, 2, 3, 4, 5


 ��������� �����������
 ���.

��	��8� 8 1��.���

���q����	������� B�'���[�	�

������� I�	������.���� S�

��	�E��
������������ a, b, c ����

S = aB + bI + c

4	���
��������$ a, b, c �$�

�� 11 (u>T�) ��� 10�8,�Z������.�	�

1$��E���� T ��Æ����� a, b, c ����

T = aB + bE + c

4	���� a, b, c �$�

12.4 	
�����


����&	_� 7
16 < b

a < 5
11  ����

b
a
�������5

�� a �5���������
�	)Ǳ
sCT���
�


����8��
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����,��������������	�#
)��

�����������D���������Æ�Q���O

��"6�9'����A_��


�
��)����� "6������)��� y 5�

�����)��� x 5���� �������������
7
16 �

5
11 	
Ǳ	��
 (0, 0), (16, 7)��
 (0, 0), (11, 5)��1

���"6� ����

�

�

x

y

O(0, 0)

A(16, 7)C(11, 5)

B(27, 12)

(9, 4)

� 6�� OABC ���8�6��� B �5��
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